Q. Antiderivative of a periodic functiomeednot
be periodic function

Eg. f(x) = cos x + 1is"periodic bui j (cosx 1) dx
= sin X'+ G is'aperiodit.
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Assignment on
Elementary Integration
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Q. A function g defined for all positive real
number satisfies g’'@ = x3 for all x > 0 and
g (1)= 1. Compute g{4)
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Methods of integration
1. By substitution
2. Integration by parts
3. Partial fraction
4. Misc. (kuturputur )




e’ cus(e‘g)

Vx

dx




® _[ x” tan " x°dx
| 1+x




| X
Q. Imsee Xdx=1In(cosecx—cotx) or Intan > + C




tanx+secx—1
Q. I dx

tanx—secx+1







Q. Itﬂl’l(lﬂ x).tan(7x).tan(3x) dx




I b
R (nls+vxi+al |& = - (nlx+vVxi—a’
\/ “+a’ ‘/ —a’
X +a X'—a







Q. I( (2x+3) - dx

X' +2x+2)

%




X'+ 4x+2

8Sx+5 I
N IJ4




Examples

Q. I sin” xcos’ xdx




Q. I5i113 v cos’ X dx
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Integration By Parts

Rules:—
(i) _Cheose 29Functionwhichis easilyintegrable

(ii) Choose ' & 2" functions suchthat after by
parts Complexity of 2" term reduces as
comparedo original integration

(1) Note sometimes 1 is takeass a function
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Case |l :

Degree of R(x) < Degree of P(x)
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